Economics 102

Spring 2007

Answers to Homework #6 (optional homework)

1. 
(a) We need to assume that this is a closed economy (X-M=0).  Using Y=AE=C+I+G, we have Y=100+0.7Y+440.  Solving this for Y gives Y=1800.

(b) Plug Y=1800 into the aggregate production function to get L= 810,000.  Meanwhile, we can find the full employment level by equating the demand and supply functions for labor.  This gives us L=1,000,000.  The equilibrium employment is smaller than the full employment.
(c) When L=1,000,000, Y=2,000 (you can solve for this using the production function).  So we need to increase Y by 200.  The multiplier equals 10/3.  Then: 

Change in Y=(10/3)*(Change in G)

This tells us that G needs to increase by 60, resulting in a new G=300.
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(d) The situation we analyzed above is described by the three graphs above.  Before the change in G, the equilibrium output is determined by the intersection of Line 1 and the 45 degree line (Y1).  Figure 2 is a “flipped” aggregate demand function and Figure 3 is flipped graph for the labor market.  As is easily seen, the full employment L2 is larger than the employment level (L1) that corresponds to the equilibrium output (Y1).  Our exercise in (c) corresponds graphically to shifting the curve for the aggregate expenditure upward (from Line 1 to Line 2) such that new equilibrium output is exactly equal to the output level that is produced by the full employment.
(e) In the Classical Model, we use the labor market comes to determine the employment level.  Using the aggregate production function, we then can find the equilibrium output level.  The output then is used either on C, I, or G.  So if the government increases G, it results in a lower C and I (crowding-out).  This is why the Classical Model claims that government policy (changing G) is ineffective.  Meanwhile, in the Keynesian Model, the equilibrium output level is determined on the demand side.  As we learned in class, in equilibrium Y is given by Y=AE.  If we plug this Y into the “flipped” aggregate production function, we can obtain the equilibrium employment.  Note that this employment doesn’t have to be equal to the full employment, which is given by the labor demand and supply function.  If the equilibrium employment is less than the full employment, the government can change G, as we did above, so that the new equilibrium employment equals the full employment.  Thus, in the Keynesian Model, the government policy (changing G) is effective.
2.

a.  To find the equilibrium interest rate, set money supply equal to money demand.

50-52-0.4r

Solving the above equation, we find that r=5.

Then, we can find investment, because we know I=50-2r.  Plugging in r=5, we find that I=40.

To find output, first solve for the AE function.

AE=C+I+G+(X-M).

Plugging in values for C, I, G, and (X-M), we get:

AE=260 + 0.8(Y-T)+ 40 + 30 -150.

Note that since (M-X)=150, net exports(X-M) is -150.

Plugging in T=0.2Y, and simplifying:

AE=180+0.8(Y-0.2Y)=180+0.64Y

Now, we can solve for Y, because we know that Y=AE in equilibrium.

Y=180+0.64Y

Y=500

b.  In this setup, where T=tY,

Expenditure multiplier=1/(1-MPC+t*MPC)

In this problem, t=0.2, MPC=0.8
Expenditure multiplier=2.78
With this tax structure, there is no tax expenditure multiplier.  The tax expenditure multiplier tells us how much output changes due to a change in a certain quantity of taxes.  However, we cannot directly control the amount of taxes, since they are dependent on Y.  

c.  Now, G=0.2Y.

AE=260+0.8(Y-0.2Y) + 40 + 0.2Y – 150 = Y

Solving for Y, we find Y=937.5

3.

a. This increases M2 but it has no effect on M1.

b. This decreases both M1 and M2.

c. This increases M1 and M2.

d. This increases M1 and has no effect on M2.

e. This increases M1 and M2.

f. This has no effect on M1 or on M2.

g. This decreases M1 and has no effect on M2.

h. This decreases M1 and has no effect on M2.

4.  
 

Bank SSC’s Balance Sheet

	Assets
	Liabilities

	Reserves  $2,000
	Demand Deposits  $2,000


 
a)  

 

Bank SSC’s Balance Sheet

	Assets
	Liabilities

	Reserves  $200
	DD $2,000

	Loans  $1,800
	 


 
Bank Ingraham’s Balance Sheet

	Assets
	Liabilities

	Reserves  $1,800
	DD $1,800

	 
	 


 
      

                           Bank Ingraham’s Balance Sheet

	Assets
	Liabilities

	Reserves  $180
	DD  $1,800

	Loans  $1,620
	 


      

                           Bank Bascom’s Balance Sheet

	Assets
	Liabilities

	Reserves  $16,20
	DD  $1,620

	
	 


d) Since the RR ratio is 0.1, the multiplier is 10, so there is a total change of 20,000.  Reserves equal 2,000 and loans equal 18,000.  DD equal reserves plus loans, so they equal 20,000.
If the RR was 0.2, the multiplier would be 5, so there would be a total change of 10,000.  Reserves would equal 2,000, loans would equal 8,000, and DD would equal 10,000.
